. @ The vapour pressure of 1,1,1,2-tetrafluoroethane (H_F C-134a)is 132.9 kPa at-20°C and 292.9
kPa at 10°C. Estimate the normal boiling point of HFC-134a. [4]
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@ Pure 1,4-dichlorobenzene (DCB) is still used as a disinfectant and a1r~refresher in some
public unnals You want to calculate the concentration of DCB in g per m> of air at 25 °C.

a) Bstimate using only melting point (T, = 53.0 °C) and boiling point (Tp = 173.9 °C) data. [3]
b) Refine your answer using the vapour pressure data given below. [2]
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Data and Plots for 1,4-DCB Question

T(°C) | 1T(K") | P° (torr) | InP°
291 0.00331 1 0.000
44 4 0.00315 4 1.386
54.8 0.00305 10 2.303
84.8 0.00279 40 3.689
108.4 | 0.00262 100 4.605
150.2 | 0.00236 400 5.991
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